

Original Article

ANALYTICAL SOLUTION OF SECOND-ORDER ODES WITH CONSTANT COEFFICIENTS USING THE ADOMIAN METHOD

Amina Khaled Al-Mansour

Department of Mathematics, University of Saba
Region, Yemen

DOI: <https://doi.org/10.5281/zenodo.16313935>

Abstract: In this paper, we will display Adomian decomposition method for solving second-order ordinary differential equations with constant coefficient. The Adomian decomposition method (ADM) is a creative and effective method for exact solution. It is important to note that a lot of research work has been devoted to the application of the Adomian decomposition method to a wide class of linear and non-linear problems. Some examples were presented to show the ability of method for linear and non-linear ordinary differential equations.

Keywords: Adomian decomposition method; second-order ordinary differential equations.

1. INTRODUCTION

In this paper, we consider the second order ordinary differential equation with constant coefficient of the form

$$r'' + ar' + br = h(x) + q(x, r), \quad (1)$$

$$r(0) = A, \quad r' = B$$

Where $q(x, r)$ is nonlinear function, $h(x)$ is given function and A, B, a, b are constants. The purpose of this paper to introduce a new differential operator to study the problem (1).

In recent year a large amount of research developed concerning Adomian decomposition method [1, 5, 7], and the related modification [6, 8, 9, 11] to investing various scientific models. The method provides the solution as an infinite series in which each term can be easily determined.

2. ANALYSIS OF THE METHOD

Under the transformation $a = m - 2n$ and $b = n(n - m)$ the equation (1) is transformed to

$$r'' + (m - 2n)r' + n(n - m)r = h(x) + q(x, r), \quad (2)$$

Where m, n are constants.

We propose the new differential operator, as below

$$L(\cdot) = e^{nx} \frac{d}{dx} e^{-mx} \frac{d}{dx} e^{(m-n)x} (\cdot), \quad (3) \quad \frac{d}{dx} \quad \frac{d}{dx}$$

So, the problem (2) can be written as,

$$Lr = h(x) + q(x, r) \cdot (4)$$

The inverse operator L^{-1} is therefore considered a two-fold integral operator, as below,

$$L^{-1}(\cdot) = e^{-(m-n)x} \int_0^x e^{mx} \int_0^x e^{-nx} (\cdot) dx dx \cdot (5)$$

Applying L^{-1} of (5) to the third terms $r'' + (m - 2n)r' + n(n - m)r$ of Eq. (2) we find

Original Article

$$\begin{aligned} & L^{-1}(r'' + (m-2n)r' + n(n-m)r) \\ &= e^{-(m-n)x} \int_0^x e^{mx} \int_0^x e^{-nx} (r'' + (m-2n)r' + n(n-m)r) dx dx \\ &= e^{-(m-n)} \int_0^x e^{mx} (e^{-nx} r' - (n-m)e^{-nx} r - r'(0) + (n-m)r(0)) dx \\ &= r - e^{-(m-n)x} r(0) - r'(0) e^{nx} + r'(0) e^{-(m-n)x} + \frac{n-m}{m} r(0) e^{nx} - \frac{n-m}{m} r(0) e^{-(m-n)x} \cdot m \quad m \quad m \end{aligned}$$

Operating with L^{-1} on (4), it follows

$$\begin{aligned} r(x) = & e^{-(m-n)x} r(0) + \frac{r'(0)}{m} e^{nx} - \frac{r'(0)}{m} e^{-(m-n)x} - \frac{n-m}{m} r(0) e^{nx} + \frac{n-m}{m} r(0) e^{-(m-n)x} + L^{-1}h(x) + L^{-1}q(x, r) \\ & \cdot (6) \end{aligned}$$

The Adomian decomposition method introduce the solution $r(x)$ and the non-linear function $q(x, r)$ by infinite series

$$r(x) = \sum_{n=0}^{\infty} r_n(x), \quad (7)$$

and

$$q(x, r) = \sum_{n=0}^{\infty} A_n, \quad (8)$$

Where the components (x) of the solution $r(x)$ will be determined recurrently specific algorithms were seen in [7,10] to formulate Adomian polynomials. The following algorithm:

$$A_0 = F(u),$$

$$A_1 = F'(u_0)u_1,$$

$$F'(u_0)u_2 + \frac{1}{2} F''(u_0)u_1^2, \quad -$$

$$A_2 = F$$

2

$$A_3 = F'(u_0)u_3 + F''(u_0)u_1u_2 + \frac{1}{3!} F'''(u_0)u_1^3, \quad (9)$$

.
.
.

Can be used construct Adomian polynomials, when $F(u)$ is a nonlinear function. By substituting (7) and (8) into (6),

$$\sum_{n=0}^{\infty} r_n = e^{-(m-n)x} r(0) + \frac{r'(0)}{m} e^{nx} - \frac{r'(0)}{m} e^{-(m-n)x} - \frac{n-m}{m} r(0) e^{nx} + \frac{n-m}{m} r(0) e^{-(m-n)x} + L^{-1}h(x) + L^{-1} \sum_{n=0}^{\infty} A_n \cdot (10)$$

Through using Adomian decomposition method, the components (x) can be determined as

$$\begin{aligned} & r'(0) e^{nx} - r'(0) e^{-(m-n)x} - \frac{n-m}{m} r(0) e^{nx} + \frac{n-m}{m} r(0) e^{-(m-n)x} + r_0 = e^{-(m-n)x} r(0) + \frac{r'(0)}{m} e^{nx} - \frac{r'(0)}{m} e^{-(m-n)x} \\ & L^{-1}h(x), \quad (11) \end{aligned}$$

$$r_{n+1} = L^{-1}A_n, \quad n \geq 0,$$

Which gives

Original Article

$$r'(0)nx - r'(0)e^{-(m-n)x} - n-m r(0)ex + n-m \quad \quad \quad r(0)e^{-(m-n)x} + L^{-1}h(x), r_0 = e^{-(m-n)x}r(0)$$

$$r_1 = L^{-1}A_0, r_2 = L^{-1}A_1,$$

$$r_3 = L^{-1}A_2 \quad (12)$$

From (9) and (12), we can determine the components (x) , and hence the series solution of $r(x)$ in (7) can be immediately obtained. For numerical purposes, the n -term approximant

$$\varphi_n = \sum_{n=0}^{n-1} r_n, \quad (13)$$

Can be used to approximate the exact solution [11]. The approach presented above can be validated by testing it on a variety of several linear and nonlinear initial value problem.

3. NUMERICAL ILLUSTRATION

We first consider two types of the linear homogenous initial value problem

Type 1: $r'' - zr = 0$ · Where $z = 1, 2, 3, 4, 5, \dots$

Type 2: $r'' + zr = 0$ · Where $z = 1, 2, 3, 4, 5, \dots$

Example 1. We consider the type 1

$r'' - zr = 0$ · (14) Where $z = 1, 2, 3, 4, 5, \dots$

$r(0) = 1, r'(0) = 0$ ·

We put $m-2n=0$ and $n(n-m)=z$

It follows that $m=2n, n = \pm\sqrt{z}$,

Substitution of $n = \sqrt{z}$ and $m = 2\sqrt{z}$ in Eq. (3) yields the operator

$$L(\cdot) = e^{x\sqrt{z}} \frac{d}{dx} e^{-2x\sqrt{z}} \frac{d}{dx} e^{x\sqrt{z}}(\cdot), \quad \frac{d}{dx} \frac{d}{dx} \quad \quad \quad$$

So

$$L^{-1}(\cdot) = e^{-x\sqrt{z}} \int_0^x e^{2x\sqrt{z}} \int_0^x e^{-x\sqrt{z}}(\cdot) \, dx \, dx \cdot$$

In an operator from Eq. (14) becomes

$$Lr = 0 \cdot \quad (15)$$

Applying L^{-1} on both sides of (5) we find

$$L^{-1}Lr = 0,$$

And it implies,

$$\begin{aligned} -x \frac{1}{2\sqrt{z}} r(0) + \frac{1}{2\sqrt{z}} r = e^{-\frac{(0)}{2\sqrt{z}}} \frac{1}{2\sqrt{z}} r(0) e^{\frac{1}{2\sqrt{z}}x} - \frac{\sqrt{z}}{2} r(0) e^{-x\sqrt{z}} \quad r' \quad e \quad + \quad r(0)ex \\ = \frac{1}{2} e^{x\sqrt{z}} + \frac{1}{2} e^{-x\sqrt{z}} \end{aligned}$$

Example 2. We consider type 2

$r'' + zr = 0$ · (16) Where $z = 1, 2, 3, 4, 5, \dots$

$r(0) = 1, r'(0) = 0$ ·

We put $m - 2n = 0$ and $n(n - m) = z$,

It follows that $n = \pm i\sqrt{z}$, where $i = \sqrt{-1}$,

Original Article

Substitution of $n = i\sqrt{z}$ and $m = 2i\sqrt{z}$ in Eq. (3) yield the operator

$$L(\cdot) = e^{-ix\sqrt{z}} \frac{d}{dx} e^{2ix\sqrt{z}} \frac{d}{dx} e^{-ix\sqrt{z}}(\cdot)$$

So

$$L^{-1} = e^{-ix\sqrt{z}} \int_0^x e^{2ix\sqrt{z}} \int_0^x e^{-ix\sqrt{z}}(\cdot) dx dx \cdot$$

In an operator from, Eq. (16) becomes

$$Lr = 0 \cdot (17)$$

Applying L^{-1} on both sides of (17) we find

$$L^{-1}Lr = 0,$$

And it implies,

$$\begin{aligned} -ix\sqrt{z}r(0) + \frac{ix\sqrt{z}}{2i\sqrt{z}} \frac{(0)}{r} = e^{-ix\sqrt{z}} \frac{1}{2} r'(0) e^{ix\sqrt{z}} \frac{1}{2} - ix\sqrt{z}r(0)e \\ = \frac{1}{2} e^{ix\sqrt{z}} + \frac{1}{2} e^{-ix\sqrt{z}}. \end{aligned}$$

From two types we observation that, the exact solution is easily obtained by this method.

Example 3. We consider the linear non-homogenous initial value problem:

$$r'' + 3r' - 10r = x, (18)$$

$$(0) = 4, r'(0) = -2 \cdot$$

We put $m - 2n = 3$ and $n(n - m) = -10$

It follows that $n = 2$, $n = -5$ and $m = \pm 7$,

Substitution of $n=2$ and $m=7$ in Eq. (3) yield the operator

$$L(\cdot) = e^{-5x} \frac{d}{dx} e^{7x} \frac{d}{dx} e^{-2x}(\cdot)$$

So

$$L^{-1}(\cdot) = e^{-5x} \int_0^x e^{7x} \int_0^x e^{-2x}(\cdot) dx dx \cdot$$

In an operator from, Eq. (18) becomes

$$Lr = x \cdot (19)$$

Applying L^{-1} on both sides of (19) we find

$$L^{-1}Lr = e^{-5x} \int_0^x e^{7x} \int_0^x e^{-2x}(x) dx dx,$$

And it implies

$$r(x) = r(0)e^{-5x} + \frac{r'(0)}{7}e^{2x} - \frac{5}{7}e^{-5x} + \frac{5}{7}e^{2x}r(0) - \frac{1}{7}e^{-5x}r'(0) + \frac{1}{28}e^{2x} - \frac{3}{10} - \frac{4}{100} - \frac{4}{700}e^{-5x} \cdot$$

Original Article

It implies

$$r(x) = \frac{73}{28} e^{2x} + \frac{996}{700} e^{-5x} - \frac{x}{10} - \frac{3}{100}.$$

So, the exact solution is easily obtained by this method.

Example 4. In this example will display if $m=n$ the Eq. (3) becomes

$$r'' - mr' = h(x) + q(x, r), \quad (20)$$

the differential operator in Eq. (3) becomes

$$L(\cdot) = e^{mx} \frac{d}{dx} e^{-mx} (\cdot), \quad \frac{d}{dx} \quad \frac{d}{dx}$$

If $m=n=1$, and $h(x)=0$, and $q(x, r)=r^2$ the Eq. (20) becomes

$$r'' - r' = r^2 \quad (21)$$

$$r(0) = 1, \quad r'(0) = 0$$

The equation (21) is nonlinear, the differential operator becomes

$$L(\cdot) = e^x \frac{d}{dx} e^{-x} (\cdot), \quad \frac{d}{dx} \quad \frac{d}{dx}$$

$$L(\cdot) = e^x \frac{d}{dx} e^{-x} (\cdot)$$

So

$$L^{-1}(\cdot) = \int_0^x e^{-x} \int_0^x e^x (\cdot) dx dx.$$

According to (21) we have

$$Lr = r^2,$$

Proceeding as before we obtain

$$r_0 = r(0) + r'(0)e^x - r'(0) = 1 \quad r_{n+1} = L^{-1}A_n, \quad n \geq 0$$

When A_n 's are Adomian polynomials of nonlinear term r^2 as below[8]

$$A_0 = r_0^2,$$

$$A_1 = 2r_0r_1,$$

$$A_2 = 2r_0r_2 + r_1^2,$$

then

$$r_0 = 1$$

$$r_1 = \frac{x^2}{2}$$

$$r_2 = \frac{x^4}{4}$$

$$r_3 = \frac{x^6}{6}$$

$$r_4 = \frac{x^8}{8}$$

$$r_5 = \frac{x^{10}}{10}$$

$$r_6 = \frac{x^{12}}{12}$$

$$r_7 = \frac{x^{14}}{14}$$

$$r_8 = \frac{x^{16}}{16}$$

Original Article

This means that the solution in a series form is given by

$$r(x) = r_0 + r_1 + r_2 + r_3 + \dots = 1 + \frac{x^2}{2} + \frac{x^4}{12} + \frac{x^6}{72} + \dots,$$

And in the closed form

$$r(x) = e^{x^2}.$$

4. CONCLUSION

In this paper, we offered a new differential operator for solving second order ordinary differential equation with constant coefficient. The examples presented in this paper illustrated the quality of the Adomian decomposition method for finding the solution. In example 1 and 2 and 3 we got the exact solution. In example 4 the results were very closed to exact solution. This indicate that the method is very efficient to solve equations considered.

REFERENCES

- G. Adomian, A review of the decomposition method and some results for nonlinear equation, Math. Model 13(7) (1997) 17.
- G. Adomian, Differential coefficients with singular, Apple. Math. Computer. 47 (1992) 179.
- A.H. ALkarawi and Inaam R. AL-Saiq(2020). Applications modified Adomian Decomposition Method for solving second order ordinary differential Equations, Journal of physics, 9(1): 1-18.
- Y.Q. Hasan (2012). Modified Adomian decomposition method for second order singular initial value problems, Advances in Computational Mathematics and its Applications, 1(2): 94-99.
- Y.Q. Hasan (2014). A new development to the Adomian decomposition for solving singular IVPs of Lane-Emden Type, United States of America Research Journal (USARJ)., 2(3):9-13.
- Y.Q. Hasan (2012). Solving first –order ordinary differential equations by modified Adomian Decomposition Method, AITS., 1(4): 86-89.
- Y.Q. Hasan (2009). Solving second order ordinary differential equations with constant coefficients by Adomian decomposition method, JCAAM., 7(4):70-378.
- A.M.S. Mutaish and Y.Q. Hasan (2018). Adjusted Adomain Decomposition Method for solving Emden-Flower equation of various order, MAYFEB Journal of Mathematics, 3: 1-10.
- S.Gh. Othman and Y.Q. Hasan (2020). New development of Adomian Decomposition Method for solving second order ordinary differential Equations, EPH-International Journal of Mathematics and Statistics, 6(2): 28-48.
- S.S. Salim and Y.Q. Hasan (2022). By Adomian Decomposition Method solving the second order ordinary differential equations with singular points, International Journal of Recent Scientific Research, 13(5): 1247-1250.

Original Article

A.M.Wazaz, Analytical approximations and pade approximations for volterra populations model, Apple, Mth. compu.102(1999) 13.